3z + 5z — 8
1. Evaluat 1 ———, =
valuate im S S — _,QLW( =

NS4 76"
(a) 2
(b) 3
(c) 4
7
@ 5
e 5
2. Evaluate 11_13% t—9 (J.b -3) C r'i—g) /Q {;‘-7
. n _;'g (€- Y(Ex3) Lsg ff)(«wa)
3
\paj/l - /Q(M -:.L = ,
61 L—og JE£> .
(c) 12
(d) 3
1
(e) 18
3. Let
' - Vb6 — x. x < 2,
fz) = Bt k(e —1)+1, z>2
Find &k so that [ is continuous at x = 2.
(a) k=3 Lo dexy = Lo JE-
(b) & = —2 M X W 2
\}eﬁ/k = -7
(d) k=0
(e) k=2 = 2‘
JJ\VV! —;Cn,j-— ‘)&M C’)’t '<(K-1)-Fl)

Si = e+f<cz)u_-%+'<‘
nee i cadiiionalns B dout= Jiuc fon,

SD 2 = DI =) K = __7— )4-"7)— N—ry €
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4. Using the definition of derivative, for f(z) = . )
) e "ﬁgﬁl_:,jf
r—x+ '
= lim , ’g— e = /R
a) ['(z) = h—>0(ah+xh)(a:+h+a,) 1"‘ ° i W
om e
h,—>0 (ah+ zh)(z+h+a) \iw/
) J'(z) = lim At R ke V\b\
n—»o(a+m)(w+h+a) 9(—'7("9&‘ N

h = i at
(d) f'{z) = Jim, (at+z)(m+h+a) h B

(©) £i(a) =iy T2k

5. For y = 3z — 6/, the slope of the tangent line at z = 9 is:

() 1 L3 6 - 3.& .
(:)2/ ] e ¢ =2
(c) 3
(d) 4
(e) 6

6. The average cost (in dollars per unit) of producing ¢ units is

(q)_001q+12+@ c=C
! C = 0'0\1"_},\'1.‘((—r Jee

o.024 12 (J4°)

() 11.6 )
(h.)/l{ A ¢ o.d +1L

What is the marginal cost at ¢ = 207 AC

(c) 12.5 :f:i'C?'O) -
(d) 13.0
{e) 12.5

7
7. it plg) = z%, find the marginal revenue R'(¢) at ¢ = 2, where R(q) = p(q) q.

Rc¢)=?”% Q( )= _ @) 2qer)-19% TP
BEGRAEASL I

(a) 1

(b) 26/16 T (§+2)"
(¢) 24/16 Ricy= 4 XU -2x3 264

(d) 20/18 4 T b

(e) 22/18



3. For y = 5% 4+ 1, the relative rate

= 9 lexs _ se
b) = d Sw>l 7 D lx-c Heaser 26
10
(c) =1
)
(d) 5
10
(e) 55
. For z? + y? = 25, find % at the point (—4,3).
(a]/z 2v+29 &4 o = Aq = — X
A A = K7
(b) —z A =4
4 2d oY) o
r 3 Ar - =
v, 3) E 57
(d) 2 /
3
(e) O
10. Let IF(z) = (z + g(x))® with g(2) = —1 and ¢'(2) = 4. Then F’(2) =
e P00 = ergan) . (i)
?‘3)/15 Fli2) = » (244 (2)) - ( I+ ‘3")’-))
d) 90
(e) 17 = 3 (24 V) - (1+Y)

=435 =15
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